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174,810
177,440
188,600
190,830
192,550
194,820
197,590



6HADBENEHIES

WFRADOEEGR (@)

IWFRA ( LR=KMR) DAz HABICEZHEIE. TaeDEERZCEBILTEL,

BEXO EEDERSF FI7E— %
1~3 20,660 17,550
L~6 25,460 21,570
7~10 27,060 22,910
11 ~15 30,270 25,610
16 ~ 20 39,900 33,670
21~ 25 51,100 43,070
26 ~ 30 62,320 92,470

S A2 83 71,950 60,540



6HADBENEHIES

HEXHE (RREX) OEERR (&%)

BERR BEROEMS I ES
= — B (BRAREH) 46,290 39,040
& — = 7 120,040 100,860
, —-® & 7 , ,
” — H e " "
" — % A = 137,660 115,620
" — % o " "
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